Zalacznik nr 3 Krzykosy
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1 |Krzykosy 1018 23 150 grzejniki 4 41 15 15 brak kominek. 55
2 _|Solec 164/1 23 150 mieszane 4 45 12 30 zamkniety weglowy 60
3 [Migskowo 359/2 23 128 mieszane 4 25 15 30 zamkniety brak 55
4 |Sulecinek 224/4 23 150 mieszane 4 24 15 25 otwarty weglowy 55
5 |Murzynowo Lesne | 256/35 23 115 mieszane 3 24 15 30 Zamkniety weglowy 55
6 _|Pieczkowo 513 23 265 grzejniki 5 43 5 15 otwarty weglowy 60
7 |Sulecinek 436/4. 23 200 grzejniki 2 2 brak 10 otwarty weglowy 50
8 _|Sulecinek 221/4 23 150 mieszane 8 25 15 25 zamkniety weglowy 50
9 [Solec 481/2 23 100 mieszane 4 52 10 10 brak brak 45
10 |Krzykosy 356 23 185 grzejniki 3 47 brak 10 otwarty weglowy 50
11_|Krzykosy 5741 23 132,11 podtogowe 2 25 15 35 Zamkniety brak 50
12 |Murzynowo Lesne 352/1 23 180 mieszane 1 44 5 20 zamkniety gaz, kominek 60
13_|Sulecin 73 23 124 mieszane 2 38 5 12 Zamkniety olej opatowy 55
14 |Wiktorowo 334 23 264 grzejniki 4 40 6 5 otwarty weglowy 50
15_|Solec 180/1 23 200 grzejniki 4 45 pustka 15 otwarty weglowy' 15
16 |Solec 184/2 23 140 mieszane 5 25 15 20 otwarty weglowy 60
17_|Wiktorowo 326 23 185 podtogowe 3 24 18 20 Zamkniety brak 50
18 227/42 23 160 podtogowe 3 24 20 30 brak brak 50
19 |Sulecinek 27714 23 1852 mieszane 5 52 15 25 Zamknigty weglowy 60
20 _|Przymiarki 51011 23 200 podiogowe 5 24 25 40 otwarty pellet 34
21_|Solec 162 23 150 grzejniki 3 38 8 8 otwarty olej opatowy 52
22 |Garby 110114 23 216,59 podtogowe 2 25 20 20 zamkniety brak 34
23_|Pieczkowo 997 23 180 grzejniki 5 47 5 5 otwarty weglowy 60
24 |Murzynowiec 307/3 23 181 mieszane 5 25 15 15 otwarty weglowy 50
25 |Borowo 63/4 23 240 mieszane 7 10+5(pustia) 10 20 otwarty weglowy 55
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